LONG MULTIPLICATION

2-DIGIT BY 2-DIGIT

WORKSHEET - 5

68 44 23 76

x 21 x 18 x 75 x 15

68 352 115 380

+ 1360 + 440 + 1610 + 760
= 1428 = 792 = 1725 = 1140
63 34 26 70

x 72 x 28 x74 x 64

126 272 104 280

+ 4410 + 680 + 1820 + 4200
= 4536 = 952 = 1924 = 4480
85 27 49 78

x 34 x 46 x 23 x 31

340 162 147 78

+ 2550 + 1080 + 980 + 2340
= 2890 = 1242 = 1127 = 2418
96 64 38 88

x 22 x 19 x 47 x 62

192 576 266 176

+ 1920 + 640 + 1520 + 5280
= 2112 = 1216 = 1786 = 5456
39 38 86 53

x 48 x 61 x 17 x 60

312 38 602 0

+ 1560 + 2280 + 860 + 3180
= 1872 = 2318 = 1462 = 3180
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